Math 2568, Quiz #13, Spring 2013 Name . t |

Instructions: Show all work. Answers must be justified for full credit. Use exact answers unless
otherwise specified.

1. Suppose A is a 4x4 matrix with eigenvalues 0, 1, 2, with the eigenvalue 1 repeated. What
conditions would have to be satisfied to ensure that the matrix was diagonalizable and what

would that D matrix look like?
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2. Find a similarity transformation for the matrix 4 = [_213 -28] State the similarity

transformation matrix P and the resulting matrix.

2 ( b = —lo=2AR+EA+AT
= - "7\ 2.
[ - K- -—) CQ 7\)6% )'(‘ B i ]
&}

o ,3 . .

2 e " i I3

AT+ At 10= 0
— . . e A

N —bIl Jide-do _ -t 2V . o 4 -3

- " 1 - 2 s D \ -

— R S
|- -st3rd) B3 -sed VI |vs ) Lol
A ) o P2
e R L=+
L \ Wi ) '1L’ 3

3. For the vectors il = [g] sand ¥ = [_96], find the following:

a. |l
b. u-¥ = — |2 -+ &,?:’5

¢. Are i and ¥ orthogonal? _
JIo



